3F 358

:=1ik o) =
217 28 29 30
K K R &
T IR >
# g g g #ng Bng
w0 | F E:E B B E3E
| Lw<Ew Sk pskg = N N kg kg =
g:15 i)—)&) o %E’/’l’;%’) 'Es 'Eu a Eﬁ'l’l’at)‘)
9:25 ElZE BE e R FiE
72 N T gno | 2% |
5\ X > . > < V-
10:10 [2) <§ E\ E'C libe(A T&b‘ 1)“1-(
o2s | HEX A A Ei3 gF ShEE
3 = =z FEELL
11:10 G<H ﬁg- O—om TIENLIENL| VIVEREL
¥ SATHEET
11:20
4
12:05
5 L4 X X X X X
V3RTH X X X X X
Zz5L O @) O @) @)
14:00 BERAEELDN>FE=DR??
5| #oVBNOTEET
14:45 AL THAIEYFLLY ] ]
Ltz LI
14:55 H-5TEFILLHO
6
15:40
T 11:40 11:40
<o HEnX BFtvh
L | "oAFFavva TvIyy || EEHEYE
Z WRAAUD HEDEFE | (LB50254T)
& nYy

TLEBADE TA4YYa, 2HFY . BB, 1E5L

5%

IpHLIKIEHY EEA!




